paint by nu

9+29 40-18 o\
+
1 -

and fill in €3¢

Work out thihseugpspropriate colo
11-20
yellow 0-10 _ 1.50
= 31_40 blue 41- [ ]
2x22 w ' t h

= 3x

it X6\ &5
I
. nt by number

the appropri

ill in each
ate coloyr

‘ blue 1 1 2
= -20
- 41-50 A
+3 18+3 '
4x10 2L Z\> 4x6
% 1 20+4 [T
4x6 =~ &
20 5x 3)(5
o] ™
& &? 30-:-5 Q-S-\’ é e
wit e e |
' ith
P n wit 4x11 "y o ;
4 > 0=2f &
Wo 4 o
21-30 8x6
2x16
-50
- 70+7 b \& s
3x5 4x9 355 f N\ 4x6 @) -+ |
18+3 5x10 2x15 X 2 O =
3x6 2x1
2x25 P a
4xT - T
7x5 — 214 /512 | pink .
X
| blue 0@
4x4 x 3
40+5 3x14 24:3 | 5x4 N O - 5
80+4 ; [~
36+3 8
11
6 2x23 23x2 - 7 3. 14x3 |
1 75+3
5x7
) 4* —
3 3x8] 60+5 - I
i
13x3 At
2x4
6x8
15X2 93.5_3 ‘_\1.
45+3 25+5 .
/ 7x6 J ‘,
" =
: ved ‘ ...I
i > ?fﬁiﬁﬁ , I
L S




	2: bitmap

